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Chapter 2: Atomic Structure

2-1 What is meant by the term composition of a material?
Solution:

The chemical make-up of the material.

2-2 What is meant by the term structure of a material?
Solution:

The spatial arrangement of atoms or ions in the material.

2-3 What are the different levels of structure of a material?

Solution:
Atomic structure, short- and long-range atomic arrangements, nanostructure,
microstructure, and macrostructure.

2-4 Why is it important to consider the structure of a material when designing and
fabricating engineering components?

Solution:
The structure of the material at all levels will affect the physical and mechanical
properties of the final product.

2-5 What is the difference between the microstructure and macrostructure of a material?

Solution:
A length scale of about 100,000 nm (100 um) separates microstructure (less than

100,000 nm) from macrostructure (greater than 100,000 nm).

2-6 (a) Aluminum foil used for storing food weighs about 0.3 grams per square inch. How
many atoms of aluminum contained in one square inch of the foil? (b) Using the
densities and atomic weights given in Appendix A, calculate and compare the number of
atoms per cubic centimeter in (i) lead and (ii) lithium.

Solution:

(a)

0.3 gAl) ( 1 mol Al) <6.022 x 1023 atoms)

N =(1i .2 (__
atoms = (1) (=77 )\ 55 982 g Al 1 mol
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(b)

|Natoms = 6.7 x 1021 Al atoms|

11.36¢ Pb) ( 1 mol Pb) <6.022 x 1023 atoms)

N =
atoms ( 1 cm3/\207.19 gPb 1 mol

1 Pb atoms
Ngtoms = 33.0 X 10°F ———

cm3

N 3 (0.534 g Li)( 1 mol Li) 6.022 x 1023 atoms
atoms =\ 1 cm3/\6.94 gli 1 mol
,, Liatoms
Natoms = 46.3 X 10 W
2-7 (a) Using data in Appendix A, calculate the number of iron atoms in one ton (2000
pounds). (b) Using data in Appendix A, calculate the volume in cubic centimeters
occupied by one mole of boron.
Solution:
N 3 (2000 Ib ) (454 g) ( 1 mol Fe) 6.022 x 1023 atoms
atoms =\ 1 ton/\ 1 Ib/\55.847 gFe 1 mol
,, Featoms
Natoms = 9.8 X 10 T
V= lB)(10.81 gB) 1 cm3B
—Lmo 1 molB/\236 gB
|V = 4.58 cm3 B|
2-8 In order to plate a steel part having a surface area of 200 in.> with a 0.002 in.-thick layer
of nickel: (a) how many atoms of nickel are required? (b) How many moles of nickel are
required?
Solution:

(a)
We start with the volume required:

) ) 2.54 cmy\?
V = (2001in.?)(0.002 in.) (TK) = 6.55 cm?
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Ngtoms = (6.55 cm?) (

1 mol

8.902¢g Ni) ( 1 mol Ni) 6.022 X 1023 atoms
1 cm?d

58.71 gNi

|Natoms = 598 x 102! atoms Ni|

(b)
Nmotes = (6.55 cm?) (8'902 & Ni) ( 1 mol N1)
1 cm3/\58.71 gNi
|Nmoles = 0.99 mol Ni|
2-9 Define electronegativity.
Solution:

Electronegativity is the tendency of an atom to accept an electron (which has a negative
charge) and become an anion.

2-10  Write the electronic configuration of the following elements (a) tungsten, (b) cobalt, (c)
zirconium, (d) uranium, and (e) aluminum.

Solution:
(a) W: [Xe] 4f“*5d’6s”
(b) Co: [Ar] 3d’4s’
(c) Zr: [Kr] 4d%4s®
(d) U: [Rn] 5£6d"7s

(e) Al: [Ne] 3s°3p"

2-11  Write the electron configuration for the element Tc.
Solution:
Since Technetium is element 43:
[Tc] = 15°25°2p°35°3p°4s°3d"%4p°55%4d°
2-12  Assuming that the Aufbau Principle is followed, what is the expected electronic
configuration of the element with atomic number Z= 1167
Solution:
Using the Aufbau diagram produces:
[116] = 15°25°2p°35°3p°45°3d"°4p°5s°4d" 5 p°6s° A *5d " 6p°7s°5f 64" 7 p*
Or in shorthand:
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[116] = [Rn] 5f“*6d"°7s*7p"
2-13  Using the Aufbau Principle, what is the expected electronic configuration of the
hypothetical element with atomic number Z=123?
Solution:
Using the Aufbau diagram produces:
[123] = 15°25°2p°35°3p°45°3d"%4p°554d" 5 p°6s°Af *5d" 6p°7s°5f*6d" 7 p°8s°5 >
Or in shorthand:
[123] = [Rn] 5f*5¢°6d'°75°7p°8s>
Or assuming that [118] is another inert gas:
[123] = [118] 55°8s’
2-14  Suppose an element has a valence of 2 and an atomic number of 27. Based only on the
guantum numbers, how many electrons must be present in the 3d energy level?
Solution:
We can let x be the number of electrons in the 3d energy level. Then:
15*25*2p°35*3p°3d*4s” (must be 2 electrons in 4s for valence = 2)

Since 27-(2+2+6+2+6+2)=7=xthere must be 7 electrons in the 3d level.

2-16  Bonding in the intermetallic compound NisAl is predominantly metallic. Explain why
there will be little, if any, ionic bonding component. The electronegativity of nickel is
about 1.8.

Solution:

The electronegativity of Al is 1.5, while that of Ni is 1.9. These values are relatively close,
so we wouldn’t expect much ionic bonding. Also, both are metals and prefer to give up
their electrons rather than share or donate them.

2-17  Plot the melting temperatures of elements in the 4A to 8-10 columns of the periodic
table versus atomic number (i.e., plot melting temperatures of Ti through Ni, Zr through
Pd, and Hf through Pt). Discuss these relationships, based on atomic bonding and
binding energies: (a) as the atomic number increases in each row of the periodic table
and (b) as the atomic number increases in each column of the periodic table.
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Solution:

The melting temperatures are taken from Figure 2-9 and are plotted below:

Melting temperature v. atomic number
4000
3500 °
3000 @ [ J
2500 °
2000 ® ®
1500 g ° )

1000

Melting temperature (°C

500

@®Ti-Ni Zr-Pd @Hf-Pt

For each row, the melting temperature is highest when the outer “d” energy level is
partly full. In Cr, there are 5 electrons in the 3d shell; in Mo, there are 5 electrons in the
4d shell; in W there are 4 electrons in the 5d shell. In each column, the melting
temperature increases as the atomic number increases—the atom cores contain a larger
number of tightly held electrons, making the metals more stable.

2-18  Plot the melting temperature of the elements in the 1A column of the periodic table
versus atomic number (i.e., plot melting temperatures of Li through Cs). Discuss this
relationship, based on atomic bonding and binding energy.

Solution:

Using data from Figure 2-9:
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2-19

Melting point as a function of atomic number
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As the atomic number increases, the melting temperature decreases, in contrast to the
trend found in Problem 2-17.

Compare and contrast metallic and covalent primary bonds in terms of (a) the nature of
the bond, (b) the valence of the atoms involved, and (c) the ductility of the materials
bonded in these ways.

Solution:

2-20

(a) Metallic bonds are formed between the one or two free electrons of each atom. The
free electrons form a gaseous cloud of electrons that move between atoms. Covalent
bonds involve the sharing of electrons between atoms.

(b) In metallic bonding, the metal atoms typically have one or two valence electrons that
are given up to the electron “sea.” Covalent bonds form between atoms of the same
element or atoms with similar electronegativities.

(c) Metallic bonds are non—directional. The non—directionality of the bonds and the
shielding of the ions by the electron cloud lead to high ductilities. Covalent bonds are
highly directional — this limits the ductility of covalently bonded materials by making it
more difficult for the atoms to slip past one another.

Differentiate the three principle bonding mechanisms in solids. What is Van der Waal’s
bonding? What are the relative binding energies of the different mechanisms?

Solution:

The principle bonding mechanisms are covalent, ionic and metallic. Van der Waals
bonding is a weak secondary bonding mechanism that allows some gaseous or small
molecules to condense. The relative binding energies of the primary bonds are reflected
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2-21

in the strength of the material. Covalent and ionic bonds produce the strongest bonds
while metallic bonds have lower bonding energies than covalent or ionic materials.

What type of bonding does KCI have? Fully explain your reasoning by referring to the
electronic structure and electronic properties of each element.

Solution:

2-22

KCl has ionic bonding. The electronic structure of [K] = 1522522p65’,523p64s1 = [Ar] 4s*. The
electronic structure of [Cl] = 15°25°2p°3s°3p° = [Ne] 35°3p°. Therefore, K wants to give up
its 4s* electron in order to achieve a stable s’p® configuration, and Cl wants to gain an
electron in order to gain the stable s?p® configuration. Thus an electron is transferred
from K to Cl, and the bonding is ionic.

The compound aluminum phosphide (AIP) is a compound semiconductor having mixed
ionic and covalent bonding. Calculate the fraction of bonding that is ionic.

Solution:

2-23

Starting with Equation 2-1, we determine the fraction of ionic bonding with this
equation:

fionic = 1 — o(—0.25AE%)

The exponential term is the covalent fraction. Since there can be only ionic or covalent
bonds, the two fractions must add to 1. In an equation form:

fionic + fcovalent =1
Or:
fionic + e(_O'ZSAEZ) =1

Anyway, the electronegativities for Al and P are 1.5 and 2.1 respectively. The difference
is 0.6:

Fiomic = 1 — e(-025[061%)
Doing the math:
fionic = 0.086

So less than one tenth of the bonding is ionic. This should not be surprising when their
positions in the periodic table are compared.

Calculate the fraction of bonding in MgO that is ionic.
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Solution:

Starting with Equation 2-1, we determine the fraction of ionic bonding with this
equation:

fionic = 1 — o(—0.25AE%)

The electronegativities of magnesium and oxygen are 1.2 and 3.5, so their difference is
2.3. Inserting:

Fiomic = 1 — e(-025[231%)

Math time!
fionic = 0.734

The compound is held together mostly by ionic bonding.

2-24  Calculate the fraction of bonding that is covalent for silica (SiO,).

Solution:

Using Equation 2-1, we determine the fraction of covalent bonding:

feovatent = o (—0.250E2)

The electronegativities of silicon and oxygen are 1.8 and 3.5, so their difference is 1.7.
Inserting:

feovatent = e(‘0-25[1.7]2)

|fcovalent = 0-4’86|

2-25 Calculate the fraction of bonding that is ionic in nature for zirconia (ZrO,)?

Solution:

= 1 — o(-0.25AE2%)

fionic

The electronegativities of zircon and oxygen are 1.4 and 3.5, so their difference is 2.1.
Inserting:

Fiomic = 1 — e(-025[2:11%)

fionic = 0.668

2-26  What is the type of bonding in diamond? Are the properties of diamond commensurate
with the nature of the bonding?
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Solution:

In diamond, the carbon atoms are covalently bonded. Diamond is electrically insulating,
which makes sense: each carbon is bonded to four other carbon atoms thus leaving no
free valence electrons available to conduct electricity.

2-27  What are the bonding mechanisms in thermoplastics?

Solution:

The primary bond in thermoplastics are the covalent bonds that hold the individual
carbon atoms together along the polymer chains while van der Waals secondary bonds
hold the polymer chains close together.

2-28  Why are covalently bonded materials generally less dense than those that are bonded
ionically or metallically?

Solution:

Covalently bonded materials are typically less dense than metallically or ionically
bonded materials due to the nature of their bonding. The bonding in covalent materials
is directional in nature which doesn’t allow the atoms to pack together in a dense
manner like the ionic or metallic bonded materials. This results in a lower mass and
lower density for covalently bonded materials.

2-31  Calculate the fractions of ionic bonds in silicon carbide (SiC) and silicon nitride (SisNg).
Solution:
We use Equation 2.1 and take the electronegativities from Figure 2-9:
Fiomic = 1 — o(-0254E%)

The electronegativities of silicon and carbon are 1.8 and 2.5, so their difference is 0.7.
Inserting:

fiomic = 1 — e(702507]%)

Math time!
fionic = 0.115
Repeating this for silicon nitride:
Fiomic = 1 — o(-0254E%)

The electronegativities of silicon and nitrogen are 1.8 and 3.0, so their difference is 1.2.
Inserting:

fionic =1— e(_0-25[1.2]2)
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fionic = 0.302

2-32  One particular form of boron nitride (BN) known as cubic boron nitride is a very hard
material and is used in grinding applications. Calculate the fraction of bonding that is
covalent in this material.

Solution:

Using Equation 2-1, we determine the fraction of covalent bonding:

feovatent = o (—0.250E2)

The electronegativities of boron and nitrogen are 2.0 and 3.0, so their difference is 1.0.
Inserting:

feovatent = e(‘0-25[1.0]2)

|fcovalent = 0-779|

2-34  Is there a trend in the number of electrons in the outermost energy shell of atoms or
ions that have formed bonds?

Solution:

Yes. They try to fill their valence shells.

2-35 Inorder to increase the operating temperature of an engine, it is suggested that some of
the aluminum components be coated with a ceramic. What kinds of problems could this
pose? How could you overcome these problems?

Solution:

Creating a mechanical bond between the ceramic and the metallic component could
pose a problem since the ceramic is ionic in nature and the component is metallically
bonded. This can be overcome by creating a slightly roughened surface and choosing a
ceramic that has a limited degree of chemical reactivity with the metal which would
enhance bonding.

Another problem that we face is likely to spallation or debonding of the coating due to
the differences in the coefficients of thermal expansion. To overcome this problem, it
would be possible to select a ceramic that could have a compatible coefficients of
thermal expansion with the aluminum for the given operating temperature range.

2-36  Aluminum and silicon are side by side on the periodic table. Compare the melting
temperatures of the two elements and explain the difference in terms of atomic
bonding.
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Solution:

2-37

The melting temperature of silicon is 1410°C while aluminum is 660°C. The differences
in melting temperatures can be explained by the types of bonds that bind the elements
together. It is expected that since aluminum is a metal that it would have metallic
bonding. Silicon on the other hand is a metalloid (between metal and non-metal) and
has covalent bonding. Since covalent bonding has higher binding energy than metallic
bonding, we can conclude that the silicon has the higher melting temperature due to
the higher strength of the silicon bonds when compared to aluminum.

Titanium is stiffer than aluminum, has a lower thermal expansion coefficient than
aluminum, and has a higher melting temperature than aluminum. On the same graph,
carefully and schematically draw the potential well curves for both metals. Be explicit in
showing how the physical properties are manifest in these curves.

Solution:

2-38

The well of titanium, represented by A, is deeper (higher melting point), has a larger
radius of curvature (stiffer), and is more symmetric (smaller thermal expansion
coefficient) than the well of aluminum, represented by B.

Would you expect iron or silicon nitride (SiN) to have a higher modulus of elasticity?
Why?

Solution:

2-39

It is expected that SiN would have the higher modulus of elasticity due to its bonding
nature (covalent) compared to iron (metallic). Covalent bonds result in higher binding
energies thus having a direct result for a higher modulus of elasticity.

Beryllium and magnesium, both in the 2A column of the periodic table, are lightweight
metals. Which would you expect to have the higher modulus of elasticity? Explain,
considering binding energy and atomic radii and using appropriate sketches of force
versus interatomic spacing.

Solution:

2-41

The smaller Be electrons are held closer to the core, therefore . held more tightly,
giving a higher binding energy:

4 Be 15°2s* E = 42 x 10° psi rge = 1.143 A

12 Mg 15°25°2p°3s” E = 6 x 10° psi ry, = 1.604 A

Would you expect MgO or magnesium to have the higher modulus of elasticity? Explain.
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Solution:

MgO has ionic bonds. A higher force will be required to cause the same separation
between the ions in MgO compared to the atoms in Mg. Therefore, MgO should have
the higher modulus of elasticity. In Mg, E = 6 x 10° psi; in MgO, E = 30 x 10° psi.

2-43  Aluminum and silicon are side-by-side in the periodic table. Which would you expect to
have the higher modulus of elasticity? Explain.

Solution:

Silicon has covalent bonds; aluminum has metallic bonds. Therefore, Si should have a
higher modulus of elasticity.

2-45  Steel is coated with a thin layer of ceramic to help protect against corrosion. What do
you expect to happen to the coating when the temperature of the steel is increased
significantly? Explain.

Solution:

Ceramics are expected to have a low coefficient of thermal expansion due to strong
ionic/covalent bonds; steel has a high thermal expansion coefficient. When the
structure heats, steel expands more than the coating, which may crack and expose the
underlying steel to corrosion.

2-48 Name at least four allotropes of carbon. Why is graphite electrically conductive while
diamond is not if both are pure forms of carbon?

Solution:

The four allotropes of carbon are diamond, graphite, nanotubes and
buckminsterfullerene. In diamond, the carbon atoms are covalently bonded to four
other carbon atoms thus leaving no free valence electrons available to conduct
electricity. In graphite, the carbon is arranged in layers where the carbon atoms form 3
strong bonds with other carbon atoms, but have a fourth bond between layers which is
a weak van der Waals bond. This results in the fourth electron for each of the carbon
atom to be available to conduct electricity.

2-49 Bond hybridization in carbon leads to numerous crystalline forms. With only six
electrons, how is this possible? Explain.

Solution:

Carbon in graphite form has the electron configuration of 1s® 2s* 2p which only allows
for 3 bonds. Additions of pressure and heat, hybridization occurs to the point that the
electron moves from the 2s to the 2p orbital (1s® 2s* 2p®) allowing access for 4 bonds to
occur.
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The Science and Engineering of Materials:
Chapter 2 Exercises

SKkills Learned: Unit conversion, fundamental constants of elements

Knovel Problems:

K2-1 A 2 in.-thick steel disk with an 80 in. diameter has been plated with a 0.0009 in.
layer of zinc.

(a) What is the area of plating in in>?

(b) What is the weight of zinc required in 1b?

(c) How many moles of zinc are required?

(d) Name a few different methods used for zinc deposition on a steel

substrate.
() Which method should be selected in this case?



Knovel Solutions:

(a) Search for ‘cylinder surface area’ on Knovel. In the search results, click on the
text link for the Appendix G: Geometric Formulas in the title Aerosol
Measurement — Principles, Techniques, and Applications (2nd Edition) (John
Wiley & Sons © 2001) to see the formula for calculating the surface area of a
cylinder:

Ellipsoids: oblate

s
~2m*+ 1o 12

e \l-¢
dma’h
volume -
3
Right EETS
2
=2m"L+2m2=erL+-m§—
where L 1s the length
¥
volume =mL= md”L
4
1089
- d?
A=(m-d L)+< )
Thus,
10000,
—( S 250)+ T T527)) 22590454 in?
“\""T127 127 2 = ' tn



(b) Search for ‘zinc plating weight’ on Knovel. In the search results, click on the
text link for the section 63.28.1 Calculation Procedure in the title Standard
Handbook of Engineering Calculations (4th Edition) (McGraw-Hill © 2005).
The text below provides the equation for calculating the weight of plating
metal and the density of zinc:

2. Compute the welght of metal required, i eight = (area plated, in”) (platin
i ' ing metal densitv. Ibin'). For this plating job. given the density rom
Table 11. the meta = # 14400045 0.258) = 8.91 1b (4.0 kg of zine. In this cal-

culation the value 144 is used to convert 60 ft* to sfuare inches.

Related Calculations The efficiency of finishing cathodes is high. ranging from 30 to nearly
100 percent. Where the actual efficiency is unknown., assume a value of 80 percent and the results
obtained will be safe for most situations.

TABLE 11 Electroplating Cumrent and Metal Weight

Time to deposit, Ah Metal density
0,001 infi® at 0.01 mm'm? at

Metal 100% efficiency | 0% efficiency Ikin? whent
Antimeony, Sh L1040 003 0.241 6671
Cadmium, Cd 0.73 0036 0312 2636
Chromium, Cr 51.80 0129 01.256 T036
Cobalt{ous), Ca 19.00 .06 322 2913
Copperions), Cu 589 0063 0322 2013
Copper(ic). Cu 1 7.50 0065 0322 2913

Goldious), Au 6.20 RER 01.697 19.29

Goldiic), Au 18,60 0063 0697 19.29
Mickel, Mi 19,00 .060 0322 2013

Platinum 27.80 0.102 0775 21.45

Silver, Ag 6.20 NREK 01.380 1052
Tin(ous). Sn 780 0.029 0264 7307

Tintic), Sn 15.60 0.067 0.264 a
Zinc. Zn 1430 0,082 0.258

9
M=A-t-p=10225.90454 - 10160 0.258 = 2.337062041 Ib



(c) To obtain the number of moles required, we must first find the molar mass of
zinc. Go to the Periodic Table (Tools menu) and find zinc (atomic no. 30):

Periodic Table

Golar Config Lisage

e v Table Colcr 0p lons
30 n wcking Point: «20 Thermal Conducivite 115
D Eaiing Faint a7 ‘spesif Hex Capadly g aes
Demsiy 7.3 Heat ofuaporimbion- 1153
% in Ear Crusk: + it loriminn Frisiak g 3a, 3 = = B = 10
‘¥aar Disocwered: fenl Elsctmnagaivity 155
I = e Blo|MN[O[F |
z Feriod: + dnmin vekme: 5.2 LT oot |t o | o
Zinc Elstion Canty: [T 1042 Gonalent Radux 4 25 13 13 15 16 17 15
lonimtion Enaqy 93842 Elaclrical Condusivity. 169 i
£5 3900 Remoue Color EERE Tran | Hon M s u .Al. :SI P. % u(g:nl.: .."':‘,f.
T AuH ol mon  |mum
[z 23 [2< 25 (26 7 25 ] [0 31 ¥ (3 [ (5 [
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The molar mass of zinc in 0.1441602637 1b/mol. The number of moles is calculated as:

mass _ 2.337062041
Molar mass 0.1441602637

Number of moles = = 16.21155498 mols of Zinc



(d) Search for ‘zinc application methods’ on Knovel. In the search results, click
on the text link for the section /3.4 Zinc Coatings in the title Corrosion (3rd
Edition) Volumes 1-2 (Elsevier © 1994):

The principal m for applying coatings to iron and steel is hot-dip
galvanising. There are four other important methods, each of which has its
own particular applications; these methods are spraying, plating, sherard-
ising and painting with zinc-rich paints. The choice of method in any given
case is determined by the application envisaged, and the five processes may
be said to be complementary rather than competitive, for there is usually
little doubt as to which is the best for any particular purpose. Processes of
applying coatings by various methods are discussed in detail elsewhere' and
are considered in Chapter 12, and will not, therefore be considered here. The
reactions inherent in galvanising tend to ensure a thick and even coating but
guides to the inspection of galvanising, sherardising and zinc spraying are
available?.

The deposition methods for Zn are hot-dip galvanizing, spraying, plating, sherardising,
and painting with zinc-rich paints.
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(e) Search for ‘zinc coatings comparison’ on Knovel. In the search results, click
on the text link for the section /3.4 Zinc Coatings in the title Corrosion (3rd
Edition) Volumes 1-2:

Table 137 Y zine coating

Plating

Characteristics of coaling Hoi-dip galvarising Metal spraying Sherardising dust painting

1. Process considerations Parts up to 20 m long

and fabrications of 18
m X 2m x 5mcan be
treated. Care required
at design stage for best
results. Continuous
galvanised wire and
strip up to 1+4 m wide)
in UK

Mo size or shape
limitations. Access
difficulties may limit its
application, e.g. inside
of tubes. Best method
for applying very thick
coatings. Little heating
of the steel

Size of bath available,
Process normally used
for simple, fairly small
components suitable
for barrel plating or for
continuwous sheet and
wire, Mo heating
involved

Baich processing is
mainly suitable for
fairly small complex
components. Semi-
continuous process for
rods, et

Can be brush, spray or
dip applied on site
when necessary. No
heating involved.
Performance varies
with media used

2. Economics

Cenerally the most
economic method of
applying metallic zinc
coatings 20-200 pm
thick

Most economic for
work with high weight
to area ratio.
Uneconomic on open

mesh

Used, where a very thin
zinc coating is
sufficient. Thick
coatings are expensive.

More expensive than
galvanising for
equivalent thicknesses.
Generally used when
control of tolerances is
mare important than
thickness of coating

Low overheads ban
high labour element in
total cost as with all
paints. Thixotropic
coatings reduce
number of coats and
hence labour costs

3. Adhesion

Process produces
iron-zine alloy layers,
overcoated with zinc,
thus coating integral
with steel

Good mechanical inter-
locking provided the
abrasive grit-blasting
pretreatment is done
correctly

Good, comparable with
other eleciroplated
coatings

Good —the diffused
iron-zinc alloy coating
provides a chemical
bond

Good —abrasive grit
blasting preparation of
the steel gives best
results

4. Thickness anc
uniformity

Mormally about

75-125 pm on products,
25 ym on sheet.
Coatings up to 250 gm
on products by prior
grit-blasting. Very
uniform—any
discontinuities due 1o
poor preparation of the
steel are readily visible
as 'black spots”

Thickness variable at
will, generally
100-200 wm but
coatings up 1o 250 um

of more can be applied.

Uniformity depends on
operator skill. Coatings
are porous bul pores
soon fill with zine
corrosion products;
thereafter impermeable

Thickness variable at
will gemerally 2-25 pm,
Thicker layers are
possible but generally
uneconomic. Uniform
coating within
limitations of “throwing
power' of bath. Pores
not a problem as
exposed steel protected
by adjacent zine

Usually about

12-40 pm closely
controlled. Thicker
coatings also possible.
Continuous and very
uniform even on
threaded and irregular
parts

Up to 40 gm of paint
{and more with special
formulations) can be
applied in one coat.
Good uniformity—any
pores fill with reaction
products

Reviewing the above table, we find that the plating is preferred for the steel substrate of

given geometry and required coating thickness.
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